Bt 1 2R B VATR B R PSRRI

No,1

) #L(

)2 A

(1) Kk y=22—dx+41%, EDOXHITEATRET D L y=22+22x—11CERD (1) it y=322—6x+4 % xfih I 2, yEhGIAIC —1 2 ETRBE L AL D

IEN

2 MR y=2x"—8x+5% ED L IITHATBINIT 5 &, Kk y=2x"+4x+ 7 IZHE72
D703

(B) WM y=x"=3x+2 & ED X IIATBENIT 5 &, it y=2"+ 2+ 11CERD
IEN

4) Hmig y=2x2+8x+ 1113, Wi y=24—4x+3 2 LD L HITETRE L b D
i

HRR o TR A R X,

©2) iy =32+ x—4Zx I 1, yEHEIC —2 PO TEATRBEI L TE D DK
W e ke K

(B) W y=2x—Tx+3 ZxEHAIC 2, yEIHINIC —1EFETBRHBLTHAOLS
HoR o TR A R D X,

@) x#bGEIC =2, yEHHTENC S EUEATEEIT 5 &, SR y=32 +4x 1T D LD
72 IR O TR A SR L.

G) P y=x—4x—1% xEUHIAIC =3, yEHENC 4 721 VATBE L CELRS
HR o TR A R D X,

6) &Rz 2 EGEIC 1, yaihme —2 2 TRBE L b &, BEI O
Fy=—222+3x—1 Tho7, b&DRPBRDIFTEAERD L,

(7 Fig y=2x>—4x+3 Zx $1EIC =5, y WFEIC 220 PATBEI L TELN D
TR o A RO L,
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[3] koHmiRE, «#h, y#h, FAICELT, TACAHHBE LTI D BRI
AR X,
1) y=x*—1 2 y=—2x"+x (3) y=x*—x—6
@) y=—2x2+3x—1 (5) y=x2—5x+2 6) y=(x+1)(x—2)

[4] V) »okptis, @A -1, yEGEIC -3 ETBBIL, i< x#icBI LT
MBI L= 5, B y=22 =20+ 2128 -7, b & OO FFERERD X,
2) HOHERE y B L CREEBBIL, T x W 3, y s —2 721 T
BRI L, i y=—2x2+16x—29 T8 o7, b & ORI AR D &,
B) HoEMRRE, BT =1, yEIFEIC =3 T TEATBEIL, B xEicE LT
SHBBT 5 L, R y=x22—6x+TICB o7, b & OBIRO AL RD X,
@) Heft y=ax’+bx+c % xWFmIC S, yEAEIC —1 PO ETREB S, 361
X WICB L ORBBEI S 725, B y=2x2—3x+ 11072572, b & OIHRO S

B ARk,
B) HoEIRRE, 2T =2, y IS —2 FUTEATBEL, & 5ICFAICE L
THIFBE L5, B y=—x2+x—8 2B -7, b L OBMROFFERERD K,
6) HoEMEE, 2 ENCE L OHRBEIL, X5ICx floFmc —1, y@osmic 3750
TATEBI L= 5, it y=x22+4x+3 (2B -7, b & OBHROFEAE KD X,




